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>F=. >F=>E<F5?L=> °C 7D44GE &5?LE<O °F 7D44GE $4D5=75=F4
>>. >>>?> K >5?L6<= oz. G=F<O
F. 5. F> 5EFL � =LNF>= fl. oz. 6<4>4O G=F<O
< F. ?. < F><G ?>4>5=>5 G G4E in. 4N=<
6>7<. 6>7<>6=> E E5>G=44 psi DG=F>6 =4 >644D4F=O= 4N=<
?D< =5>5E. ?D< =5>5E>4<<>EF< 4 45=L sq. in. >644D4F=O= 4N=<
>. ?. >4> ?D46<?> �< =LNF>=-<5FD cu. in. >G5<G5E><= 4N=<
6>?. 6>?NG4O <? <<??<?<FD mph <<?L 6 G4E
<<=. <<=<<4?L=O= <?/4 <<??<?<FD>6 6 45=L >5/<<= >5>D>F>6 6 <<=GFG
<4>E. <4>E<<4?L=O= >G5. E< >G5<G5E><= E4=F<<5FD gal. 74??>=
<<= <<=GF4 << <<??<<5FD lb. DG=F
< F. 4. < F4> 44?55 ? ?<FD ?. E. ?>L44<=4O E<?4
=4?D. =4?D<<5D 4� (�) 'D>65=L 76G>>6>7> 446?5=<O >7E ><?>7D4<<-E<?4
>�F ><?>64FF > 5>?LL5 fpsec DGF>6 6 E5>G=4G
U �4?DO65=<5 < <5=LL5 �>MDD<F<5=FO ?5D5EG5F4
R E>?D>F<6?5=<5 ± ??NE/<<=GE �?<=4 1 << = 0,03937 4N=<4
I E<?4 F>>4 Ø 4<4<5FD �?>M44L 1 E<2 = 0,155 >6. 4N=<4
� 6>?LF >7 ><?>7D4<< �5N5< 1 <? = 0,0352 6<4>>= G=F<<
�F 64FF >F=. 6?46. >F=>E<F5?L=4O 6?46=>EFL 1 ? = 2,11416 ?<=FO (%,�)
AC ?5D5<5==O= F>> j >>>?> �4EE4 1 >7 = 2,205 DG=F4
DC ?>EF>O==O= F>> = D46=> 1 7 = 0,03527 G=F<<
A 4<?5D % ?D>F5=F �?>F=>EFL 1 >7/E<3 = 8,3454 DG=F4/74??>= (%,�)
�G 4<?5D-G4E 0 ?D><<??5 1 >7/E<3 = 0,03613 DG=F4/>G5. 4N=<
�F G4EF>F4 (75DF) g 5>?LL5 <?< D46=> %<?4 1 � = 0,10197 >7E

nc
D47<O>4NM<= >>=F4>F  
(=>D<4?L=> 74<>=GFO=)

f <5=LL5 <?< D46=> �46?5=<5 1 54D = 14,5 DG=F4/>6. 4N=<

no
74<O>4NM<= >>=F4>F  
(=>D<4?L=> D47><>=GFO=)

<<2 >644D4F=O= <<??<<5FD &5<?5D4FGD4 °C = (°F 3 32) x 5/9

��� ?>7<G5E><= >?5D4F>D ��� >5/<<=-1 >5>D>F>6 6 <<=GFG �>M=>EFL 1 >�F = 1,34109 ?. E.
� ?>7<G5E><= >?5D4F>D � 'E>>D5=<5 1 </E2 = 3,28084 DGF4/E2

%>>D>EFL 1 </E = 3,28084 DGF4/E
1 </E = 2,23694 <<?</G4E
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1. '>474=<O ?> F5E=<>5 
557>?4E=>EF<

1.1 �5M<5 G>474=<O ?> F5E=<>5 
557>?4E=>EF<

 ï ->E??G4F<DGNM4O >D74=<74F<O 4>?6=4 74-
D4=F<D>64FL, GF> MF> DG>>6>4EF6> ?D>G<F4?< 
6E5 ?<F4, >>F>DO< ?>DGG5=> 6O?>?=5=<5 D4-
5>F E <745?<5< <?< >>F>DO5 >EGM5EF6?ONF 
=447>D < <=EFDG>F46 G>474==>7> >DG74 ?<F. 
�D><5 F>7>, M>E??G4F<DGNM4O >D74=<74F<O 
>5O74=4 >55E?5G<FL ?>?=>5 ?>=<<4=<5 
E>45D6<<>7> DG>>6>4EF64 ?5DE>=4?><. �4-
?D5M5=> 66>4<FL <745?<O 6 M>E??G4F4F<N 
<?< M>E??G4F<D>64FL <E 557 ?D5464D<F5?L-
=>7> >7=4>><?5=<O E 44==O< DG>>6>4EF6><.

 ï $G>>6>4EF6> 4>?6=> 5OFL E>ED4=5=> 4?O 
44?L=5=L57> <E?>?L7>64=<O. 

 ï �?<E4==O5 <745?<O <77>F>6?5=O 6 E>>F65F-
EF6<< E 4>FG4?L=O< GD>6=5< F5E=<><. �4=4-
>> ?D< <E <E?>?L7>64=<< =5 ?> =47=4G5=<N 
<>7GF 6>7=<>=GFL >?4E=>EF<, 654GM<5 > 
FD46<4< ?N45= < <4F5D<4?L=><G GM5D5G. 

 ï �5>5E>4<<> =5<54?5==> GEFD4=OFL =5<E-
?D46=>EF<, >>F>DO5 <>7GF >FD<F4F5?L=> 
?>6?<OFL =4 557>?4E=>EFL D45>FO. � 4>?>?-
=5=<5 > =4EF>OM5<G DG>>6>4EF6G =5>5E>4<-
<> E>5?N44FL < ?D<<5=OFL ?D54?<E4==O5 
74>>=>44F5?LEF6>< ?D46<?4 ?> ?D54>F6D4-
M5=<N =5EG4EF=OE E?GG456 < 74M<F5 >>DG-
64NM5= ED54O.

1.2 �E=>6=O5 ?D46<?4 >5D4M5=<O E 
<745?<5<

 ï �745?<5 <>65F <E?>?L7>64FLEO F>?L>> 
?D< E>5?N45=<< 6E5E <5D ?D54>EF>D>6-
=>EF<, 6 F5E=<G5E>< <E?D46=>< E>EF>-
O=<< < 6 E>>F65FEF6<< E> E6545=<O<<, 
E>45D64M<<<EO 6 44==>< DG>>6>4EF65.

 ï �5>5E>4<<> >7=4>><<FLEO E DG=>F<-
O<< < ?D<=F<?>< 45=EF6<O <745?<O. 
�5>5E>4<<> E>5?N44FL G>474==O5 
MF4?O <>=F464 < G?D46?5=<O, 4 F4>65 <E 
?>E?54>64F5?L=>EFL.

 ï �D< =4?<G<< ?D<7=4>>6 =5<E?D46=>EF< 
<?< =5?D46<?L=> 6O?>?=5==>7> <>=F4-
64/M>E??G4F4F<< =5>5E>4<<> GF>G=<FL 
44==O5 ?G=>FO. �4?D5M45FEO ?D>4>?-
64FL M>E??G4F4F<N 4> 6OOE=5=<O =5>5-
E>4<<OE 6>?D>E>6.

 ï �4?D5M45FEO 4>?GE>4FL ?>EF>D>==<E 
?<F 6 7>=G 6O?>?=5=<O D45>F.

 ï �5>5E>4<<> E>5?N44FL >4E4NM<5EO 
E>>F65FEF6GNM57> 6<44 45OF5?L=>EF< 
?D46<?4 F5E=<>< 557>?4E=>EF< < 6=GFD<-
?D><76>4EF65==O5 <=EFDG>F<<.

 ï �5>5E>4<<> G5F>> >?D545?<FL < E>5?N-
44FL ED5DO >F65FEF65==>EF< 74 D47?<G-
=O5 D45>G<5 >?5D4F<<. �56OOE=5==O5 
6>?D>EO ?D54EF46?ONF 5>?LLGN G7D>7G 
4?O 557>?4E=>EF<.

 ï �4?D5M45FEO E=<<4FL, <7<5=OFL <?< 
6O6>4<FL <7 EFD>O 74M<F=O5 < ?D54>-
ED4=<F5?L=O5 GEFD>=EF64, =5>5E>4<<> 
D57G?OD=> ?D>65DOFL <E D45>F>E?>E>5-
=>EFL < >><??5>F=>EFL.

 ï �E?< FD55G5FEO 45<>=F<D>64FL 74M<F-
=O5 < ?D54>ED4=<F5?L=O5 GEFD>=EF64, 
<E =5>5E>4<<> GEF4=>6<FL ED47G ?>E?5 
7465DL5=<O D45>F < G554<FLEO 6 <E 
D45>F>E?>E>5=>EF<.

 ï �>7=<>L<5 =5<E?D46=>EF< =5>5E>4<<> 
GEFD4=OFL E GG5F>< ED5D >F65FEF65=-
=>EF<. �D< 6>7=<>=>65=<< =5<E?D46-
=>EF5=, 6OE>4OM<E 74 D4<>< ED5DO 
>F65FEF65==>EF<, =5>5E>4<<> =574<54-
?<F5?L=> E>>5M<FL > =<E =5?>ED54-
EF65==><G DG>>6>4EF6G.

 ï �5>5E>4<<> =>E<FL ED54EF64 <=4<6<-
4G4?L=>= 74M<FO.

 ï �4F57>D<G5E>< 74?D5M45FEO <E?>?L7>-
64FL 45F4?< F5=FD4?<7>64==>= E<EF5<O 
E<47>< 6 >4G5EF65 >?>DO 4?O =>7 / 
EFG?5=<.
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1.3 �E?>?L7>64=<5 ?> =47=4G5=<N

�>=F56>5 D5?5 446?5=<O  
DW 130-260 EEX / DW 140-400 EEX
 ï �5D5>?NG5=<5 6E?><>74F5?L=OE, G?D46-

?ONM<E < E<7=4?L=OE M?5>FD<G5E><E 
F5?5= ?D< 4>EF<65=<< <4>E<<4?L=> 
4>?GEF<<>7> 446?5=<O 6 F5=FD4?<7>-
64==>= E<EF5<5 E<47><.

�?>> >>=F56OE D5?5 446?5=<O EDWE-3EEX
 ï �7<5D5=<5 < <=4<>4F<O 446?5=<O 6 

F5=FD4?<7>64==>= E<EF5<5 E<47><.

 ï �5D5>?NG5=<5 6E?><>74F5?L=OE, G?D46-
?ONM<E < E<7=4?L=OE M?5>FD<G5E><E 
F5?5= ?D< 4>EF<65=<< <4>E<<4?L=> 
4>?GEF<<>7> 446?5=<O 6 F5=FD4?<7>-
64==>= E<EF5<5 E<47><.

->E??G4F4F<O D47D5L5=4 F>?L>> 6 ?D545-
?4E <7?>65==OE 6 =4EF>OM5< DG>>6>4EF65 
E?5F<D<>4F<=, F5E=<G5E><E E4D4>F5D<EF<> 
< ?D545?L=OE 7=4G5=<= < 6 D4<>4E >><-
<5DG5E>>=, M>>=><<G5E>>= 45OF5?L=>EF< 
?D>D5EE<>=4?L=OE ?>?L7>64F5?5=.

1.4 �D>7=>7<DG5<>5 =5?D46<?L=>5 
<E?>?L7>64=<5

%FD>7> 74?D5M45FEO <E?>?L7>64=<5, >F-
?<G4NM55EO >F G>474==>7> 6 =4EF>OM5< 
DG>>6>4EF65. � G4EF=>EF<, <E?>?L7>64=<5:
 ï 74 ?D545?4<< G>474==>7> 4<4?47>=4 D4-

5>G<E F5<?5D4FGD;

 ï =5 G>474==OE M>E??G4F4F<>==OE 
<4F5D<4?>6;

 ï 747DO7=5==OE E<47>G=OE <4F5D<4?>6 
<?< E<47>G=OE <4F5D<4?>6 E 6>74GL=O-
<< 6>?NG5=<O<<; 

 ï E<47>G=OE <4F5D<4?>6, F5<?5D4FGD4 
>>F>DOE ?D56OL45F <4>E<<4?L=> 4>-
?GEF<<GN F5<?5D4FGDG >>DG64NM5= 
ED54O;

 ï 557 E>>F65FEF6GNM57> >?4?4=4 >7D4=<-
G5=<O 446?5=<O;

 ï 6 7>=4E E 47D5EE<6=O<<, >>DD>7<>==O<< 
65M5EF64<< (=4?D<<5D, 6 4F<>ED5D5 
E 5>?LL>= >>=F5=FD4F<5= >7>=4). �=< 
<>7GF ?>6D54<FL G??>F=5=<O < ?4>>>D4-
E>G=>5 ?>>DOF<5;

 ï 6 7>=4E E 6D54=O< <7?GG5=<5< (=4?D<-
<5D, <>=<7<DGNM<<);

 ï 4?O ?>44G<, ?5D544G< <?< E>744=<O 74-
?4E>6 >?4E=OE <4F5D<4?>6 < E<5E5= F4-
><E <4F5D<4?>6 E>7?4E=> �D<?>65=<N I, 
'4EF< 235 $57?4<5=F4 ?> >?4EE<D<>4-
F<<, <4D><D>6>5 < G?4>>6>5 E<<<G5E><E 
65M5EF6 < E<5E5= (�% 1272/2008), 
>>F>DO5 ?><5G5=O 7=4>4<< >?4E=>EF< 
GHS01-GHS06 < GHS08;

 ï 4?O ?>44G<, ?5D544G< <?< E>744=<O 
74?4E>6 747>6, E6<65==OE 747>6, D4EF6>-
D5==OE 747>6, ?4D>6 < 6<4>>EF5=, 446-
?5=<5 ?4D4 6 >>F>DOE ?D< 4>?GEF<<>= 
<4>E<<4?L=>= D45>G5= F5<?5D4FGD5 5>-
?55 G5< =4 0,5 54D ?D56OL45F EF4=44DF-
=>5 4F<>ED5D=>5 446?5=<5 (1013 <54D);

 ï 4?O ?>44G<, ?5D544G< <?< E>744=<O 
74?4E>6 E<47>G=OE <4F5D<4?>6, E>45D-
64M<E ?5FGG<5 D4EF6>D<F5?<;

 ï 6 4F<>ED5D5 67DO6>>?4E=OE 747>6 < 
?4D>6, F5<?5D4FGD4 6>E??4<5=5=<O 
>>F>DOE <5=LL5 125 % <4>E<<4?L=>= 
F5<?5D4FGDO ?>65DE=>EF<;

 ï 6 ?D<EGFEF6<< 67DO6>>?4E=>= ?O?<, <<-
=<<4?L=4O F5<?5D4FGD4 6>E??4<5=5=<O 
< F5<?5D4FGD4 F?5=<O >>F>D>= <5=LL5 
150 % <4>E<<4?L=>= F5<?5D4FGDO 
?>65DE=>EF5=;

 ï 6 4DG7>=, 5>?55 >D<F<G5E>>= 67DO6>>-
?4E=>= 7>=5, G5< G>474==4O =4 746>4E>>= 
F45?<G>5 =4E>E4;

 ï E >FEGFEF6GNM<<, ?>6D5645==O< <?< 
4>?>?=<F5?L=> =5?D46<?L=> =4=5-
E5==O< ?4>>>D4E>G=O< ?>>DOF<5<. 
�4>>>D4E>G=>5 ?>>DOF<5 4>?6=> E>>F-
65FEF6>64FL FD55>64=<O< EF4=44DF>6, 
?D54GE<>FD5==OE 4?O �<D5>F<6O ATEX.
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1.5 �>D4E>4 ??4EF<4EE>6OE 45F4?5=

�4?D5M45FEO >>D4L<64FL ??4EF<4EE>6O5 
45F4?< < G??>F=5=<O >?<E4==OE <745?<=. 
�5>5E>4<<> ?>?=>EFLN 74>?5<FL <?< 
45<>=F<D>64FL ??4EF<4EE>6O5 45F4?< 
?5D54 >>D4E>>= <4L<=O, 6 >>F>DGN GEF4-
=46?<645FEO <745?<5.

1.6 �7<5=5=<5 >>=EFDG>F<< <745?<O

%4<>6>?L=>5 6=5E5=<5 <7<5=5=<= 6 
>>=EFDG>F<N < ?5D5>5>DG4>64=<5 <>7GF 
=5?D54E>47G5<> ?>6?<OFL =4 557>?4E-
=>EFL D45>FO. �>MF><G E4<>6>?L=>5 
6=5E5=<5 <7<5=5=<= < ?5D5>5>DG4>64=<5 
74?D5M5=O.

1.7 �4?D5F =4 >?D545?5==O5 6<4O 
45OF5?L=>EF<

�E?54EF6<5 <EF>G=<>>6 6>7<>6=OE =5<E-
?D46=>EF5=, >>F>DO5 =5 <>7GF 5OFL >5=4-
DG65=O ?>?L7>64F5?5<, <?< E>7?4E=> 74-
>>=>44F5?L=O< FD55>64=<O< E?54GNM<5 
6<4O 45OF5?L=>EF< 4>?6=O >EGM5EF-
6?OFLEO F>?L>> E>FDG4=<>4<< ?D><76>4<-
F5?O <?< G?>?=><>G5==O<< ?<F4<<:
 ï 74<5=4 =46<<=>= ?DG6<=O.

1.8 �E?OF4=<O < ?D>65D>< ?5D54 
?>EF46>>=

�5D54 ?>EF46>>= 5O?< ?D>6545=O E?54G-
NM<5 <E?OF4=<O < ?D>65D><:
 ï ?D>65D>< 557>?4E=>EF< < 

D45>F>E?>E>5=>EF<;

 ï 4?O 67DO6>74M<M5==OE <745?<=: <E-
?OF4=<O E>7?4E=> FD55>64=<O< �<D5>-
F<6O ATEX.

1.9 �>?>?=<F5?L=> 45=EF6GNM4O 
4>>G<5=F4F<O

� 4>?>?=5=<5 > MF><G DG>>6>4EF6G E>-
>F65FEF6GNM4O F5?564O 7DG??4 >5O74=4 
E>5?N44FL E?54GNM<5 4>>G<5=FO:
 ï ?D><76>4EF65==O5 <=EFDG>F<< < D47D5-

L<F5?L=GN 4>>G<5=F4F<N; 

 ï ?4E?>DF 557>?4E=>EF< <E?>?L7G5<>7> 
E<47>G=>7> <4F5D<4?4.

�D< =5>5E>4<<>EF<:
 ï 6 ?D>5>F<D>6>G=>= 4>>G<5=F4F<<;

 ï DG>>6>4EF64 > 4DG7<< >><?>=5=F4< 4?O 
<>=F464 F5=FD4?<7>64==>= E<EF5<O 
E<47><.

 ï 4>>G<5=F > 67DO6>74M<F5, ?>4-
7>F>6?5==O= M>E??G4F<DGNM5= 
>D74=<74F<5=.
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1.10 '>474=<O ?> 746>4E>>= F45?<G>5

�4 746>4E>>= F45?<G>5 G>474=O 646=O5 
?4D4<5FDO, =4?D<<5D, =4<<5=>64=<5 
<>45?<, =><5D 74>474, E4D4>F5D<EF<>< 
E>7?4E=> =>D<4F<6=O< FD55>64=<O<.
'F>5O ?D54>F6D4F<FL GF5DN 44==OE E65-
45=<=, 5E?< F5>EF =4 746>4E>>= F45?<G>5 
EF4=5F =5D475>DG<6O<, =5>5E>4<<> 74?<-
E4FL MF< ?4D4<5FDO 6 DG>>6>4EF6>.

�>45?L: _______________________________

�46>4E>>= =><5D _______________________

%5D<==O= =><5D _______________________

(��/��) _______________________________ 
�4?5=44D=4O =545?O/7>4 6O?GE>4

SKF Lubrication Systems Germany GmbH

Model:
P. No.:
S. No.:

xxx -xxx-xxx-xxx-xxx
xxxxxxxxxxxxxxxx
xxxxxxxxxxxxxxxx

Made in Germany

U & P: see motor type identification plate

KW/JJFactory address

-xx °C  f Ta f +xx °C

IIxG Ex h IIx Tx Gb
IIxD Ex h IIIx Txxx°C Db

1.11 '>474=<5 ?> <4D><D>6>5 CE

�4D><D>6>4 CE 6O?>?=O5FEO E>7?4E=> 
FD55>64=<O< ?D<<5=O5<OE 4<D5>F<6:
 ï 2014/34/EU 

�<D5>F<64 >5 >5>DG4>64=<< < 74M<F-
=OE E<EF5<4E, ?D54=47=4G5==OE 4?O 
<E?>?L7>64=<O 6 ?>F5=F<4?L=> 67DO6>-
>?4E=OE ED544E (ATEX)

 ï 2011/65/EU  
(RoHS II) �<D5>F<64 >5 >7D4=<G5=<< 
<E?>?L7>64=<O >?D545?5==OE >?4E=OE 
<4F5D<4?>6 6 M>?5>F<G5E><E < M?5>-
FD>==OE GEFD>=EF64E

1.12 '>474=<5 ?> 7=4>G E>>F65FEF6<O 
UKCA

�=4> E>>F65FEF6<O UKCA ?>4-
F65D6445F E>>F65FEF6<5 <745?<O 
FD55>64=<O< ?D<<5=<<OE 4<-
D5>F<6 �5?<>>5D<F4=<<.

'>474=<5 ?> �<D5>F<65 > =<7>>6>?LF=>< 
>5>DG4>64=<< 2014/35/EU
&D55>64=<O > 74M<F5 �<D5>F<6O > =<7-
>>6>?LF=>< >5>DG4>64=<< 2014/35/�U 
E>5?N44NFEO E>7?4E=> �D<?>65=<N II, 
EF. 1.2.7, �<D5>F<6O ATEX 
2014/34/EU.

'>474=<5 ?> �<D5>F<65 > =4?>D=>< >5>-
DG4>64=<<  
2014/68/EU 
�4 >E=>64=<< E6><E E4D4>F5D<EF<> 
44==>5 <745?<5 =5 4>EF<745F ?D545?L-
=OE 7=4G5=<=, G>474==OE 6 EF4FL5 4, 
?4D47D4D5 1, ?G=>F5 (a), ?>4?G=>F5 (ii) < 
E>7?4E=> EF4FL5 1, ?<F5D5 f <E>?NG5=> <7 
>5?4EF< 45=EF6<O �<D5>F<6O > =4?>D=>< 
>5>DG4>64=<< 2014/68/�%.
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1.13 �DG7 ?<F, <<5NM<= ?>?=><>G<O ?> 
<E?>?L7>64=<N >5>DG4>64=<O

1.13.1 �>?L7>64F5?L

�<F>, >>F>D>5 =4 >E=>64=<< ?>?GG5==>7> 
>5GG5=<O, 7=4=<= < >?OF4 6 E>EF>O=<< 
6O?>?=OFL DG=>F<< < 45=EF6<O, E6O-
74==O5 E =>D<4?L=O< D56<<>< D45>FO. 
%N44 >F=>E<FEO F4>65 ?D54>F6D4M5=<5 
6>7<>6=OE >?4E=>EF5=, >>F>DO5 <>7GF 
6>7=<>=GFL 6 ?D>F5EE5 M>E??G4F4F<<.

1.13.2 �64?<D<F<D>64==O= <5E4=<>

�<F> E E>>F65FEF6GNM<< ?D>D5EE<-
>=4?L=O< >5D47>64=<5<, 7=4=<O<< < 
>?OF><, >>F>D>5 <>65F D4E?>7=4FL < 
?D54>F6D4F<FL >?4E=>EF<, 6>7=<>=>65=<5 
>>F>DOE 6>7<>6=> ?D< FD4=E?>DF<D>6>5, 
<>=F465, 66>45 6 M>E??G4F4F<N, M>E-
??G4F4F<<, F5E=<G5E>>< >5E?G6<64=<<, 
D5<>=F5 < 45<>=F465.

1.13.3 �64?<D<F<D>64==O= M?5>FD<>

�<F> E E>>F65FEF6GNM<< ?D>D5EE<-
>=4?L=O< >5D47>64=<5<, 7=4=<O<< < 
>?OF><, >>F>D>5 <>65F D4E?>7=4FL < 
?D54>F6D4F<FL >?4E=>EF<, <EE>4OM<5 >F 
M?5>FD<G5EF64.

1.13.4 %?5F<4?<EF ?> D5<>=FG < 
F5E=<G5E>><G >5E?G6<64=<N 6> 
67DO6>>?4E=OE 7>=4E

�<F>, >64?<D<>4F<O, ?D>D5EE<>=4?L=>5 
>5D47>64=<5, >5GG5=<5 < >?OF >>F>D>7> 
?>76>?ONF D4E?>7=464FL D<E>< < 6>7-
<>6=O5 G7D>7O ?D< D45>F5 E GEFD>=EF6>< 
<?< 57> >><?>=5=F4<< 6> 67DO6>>?4E=OE 
7>=4E < ?D<=<<4FL =5>5E>4<<O5 <5DO 
4?O <E ?D54>F6D4M5=<O. -F>F E?5F<4-
?<EF 6?4455F 7=4=<O<< > D47=OE 6<44E 
6>E??4<5=5=<O, <5F>44E <>=F464 < 
>?4EE<D<>4F<OE 7>=. �= 7=45F ?D46<?4 
< ?D54?<E4=<O, 45=EF6<F5?L=O5 4?O 57> 
45OF5?L=>EF< < 67DO6>74M<FO, 6 G4EF-
=>EF<, �<D5>F<6O ATEX 2014/34/EU < 
1999/92/EU.

1.14 �=EFDG>F46 <>=F46=<>>6 EF>D>==<E 
>D74=<74F<=

�5D54 =4G4?>< D45>FO M>E??G4F<DGNM4O 
>D74=<74F<O >5O74=4 ?D><=D>D<<D>64FL 
<>=F46=<>>6 EF>D>==<E >D74=<74F<= > 
?>4?564M<E E>5?N45=<N ?D><76>4-
EF65==OE ?D46<?4E F5E=<>< 557>?4E=>EF<, 
45=EF6GNM<E ?D54?<E4=<OE ?> ?D54>F-
6D4M5=<N =5EG4EF=OE E?GG456, 4 F4>65 > 
DG=>F<OE <4L<=O, 6 >>F>DGN GEF4=46?<-
645FEO <745?<5, < > 55 74M<F=OE GEFD>=-
EF64E < ?D<E?>E>5?5=<OE.

1.15 �D54>EF46?5=<5 ED54EF6 
<=4<6<4G4?L=>= 74M<FO

->E??G4F<DGNM4O >D74=<74F<O >5O74=4 
?D54>EF46<FL ED54EF64 <=4<6<4G4?L=>= 
74M<FO 6 E>>F65FEF6<< E <5EF>< D45>FO 
< 55 F5?LN. �D< 6O?>?=5=<< D45>F 6> 
67DO6>>?4E=>= 4F<>ED5D5 > F4><< ED54-
EF64< F4>65 >F=>EOFEO >45644 < <=EFDG-
<5=FO, 74M<M5==O5 >F M?5>FD>EF4F<G5-
E><E D47DO4>6 (-%$). 
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RU1. '>474=<O ?> F5E=<>5 557>?4E=>EF<

5G5<>5 4?O D47DO44 4>>G<G?<D>64=-
=>= M?5>FD<G5E>>= M=5D7<<. $45>FO E 
M?5>FD<G5E><<< >><?>=5=F4<< 4>?6=O 
6O?>?=OFLEO F>?L>> 6 >55EF>G5==>< E>-
EF>O=<< < E <E?>?L7>64=<5< <=EFDG<5=-
F>6, ?D54=47=4G5==OE 4?O F4><E D45>F.

 ï �>4>?NG5=<5 M?5>FD>>5>DG4>64=<O 
=5>5E>4<<> 6O?>?=OFL F>?L>> 6 E>-
>F65FEF6<< E 44==O<< 45=EF6GNM5= 
EE5<O E>54<=5=<= ?D< E>5?N45=<< 
E>>F65FEF6GNM<E ?D54?<E4=<=, 4 F4>65 
<5EF=OE GE?>6<= ?>4>?NG5=<O.

 ï �4?D5M45FEO 5D4FLEO <>>DO<< <?< 
6?46=O<< DG>4<< 74 >455?< <?< M?5>-
FD<G5E><5 >><?>=5=FO.

 ï �4?D5M45FEO LG=F<D>64FL ?D54>ED4-
=<F5?<. �5<E?D46=O5 ?D54>ED4=<F5?< 
E?54G5F 6E5744 74<5=OFL ?D54>ED4=<F5-
?O<< F4>>7> 65 F<?4.

 ï �5>5E>4<<> >55E?5G<FL =44?564M55 
7475<?5=<5 <745?<O.

 ï %65D?5=<5 =5>5E>4<<OE >F65DEF<= 
4>?6=> 6O?>?=OFLEO F>?L>> 6 45F4-
?OE, =5 O6?ONM<EEO >D<F<G5E><<< 
<?< =5EGM<<<. %?54G5F <E?>?L7>64FL 
<<5NM<5EO >F65DEF<O. �54>?GEF<<> 
?>6D5645=<5 ?D>6>4>6 < >455?5= ?D< 
E65D?5=<< >F65DEF<=.

?<5, < 745?>><D>64FL <E >F 6>?NG5=<O 
?>EF>D>==<<< ?<F4<<.

 ï �D<=O6 E>>F65FEF6GNM<5 <5DO, =5>5-
E>4<<> G554<FLEO 6 F><, GF> ?>46<6-
=O5, =574>D5??5==O5 45F4?< 745?>><-
D>64=O 6> 6D5<O 6O?>?=5=<O D45>F < 
=5 ?D54EF46?ONF G7D>7O 4?O 74>D>6LO 
6 D57G?LF4F5 =5?D54=4<5D5==>7> 
?5D5<5M5=<O.

 ï �745?<5 <>=F<DG5FEO F>?L>> 74 ?D545-
?4<< D45>G5= 7>=O ?>46<6=OE 45F4?5= 
=4 4>EF4F>G=> 5>?LL>< D4EEF>O=<< >F 
<EF>G=<>>6 F5??4 < E>?>44. �54>?G-
EF<<> GEG4L5=<5 D45>F>E?>E>5=>EF< 
<?< ?>6D5645=<5 4DG7<E 47D574F>6 
<4L<=O <?< FD4=E?>DF=>7> ED54EF64 6 
D57G?LF4F5 <>=F464.

 ï �5>5E>4<<> ?D>EGL<FL <?< E>>F65F-
EF6GNM<< >5D47>< >7D44<FL 6?46=O5, 
E>>?L7><5 ?>65DE=>EF<.

 ï �5>5E>4<<> E>>F65FEF6GNM<< >5D4-
7>< >7D44<FL 7>DOG<5 <?< E>?>4=O5 
?>65DE=>EF<.

 ï $45>FO E M?5>FD<G5E><<< >><?>=5=-
F4<< 4>?6=O 6O?>?=OFLEO F>?L>> 
>64?<D<F<D>64==O<< M?5>FD<>4<<. 
�5>5E>4<<> E>5?N44FLEO 6D5<O, FD5-

1.16 &D4=E?>DF<D>6>4, <>=F46, 
F5E=<G5E>>5 >5E?G6<64=<5, 
=5<E?D46=>EF<, D5<>=F, 6O6>4 <7 
M>E??G4F4F<<, GF<?<74F<O

 ï �E5 7445=EF6>64==O5 ?<F4 4>?6=O 
5OFL ?D><=D>D<<D>64=O > ?D>6545=<< 
44==OE D45>F ?5D54 =4G4?>< <E 6O?>?-
=5=<O. �5>5E>4<<> E>5?N44FL ?D><7-
6>4EF65==O5 <5DO ?D54>EF>D>6=>EF< < 
D45>G<5 <=EFDG>F<<.

 ï �5>5E>4<<> <E?>?L7>64FL 4?O FD4=E-
?>DF<D>6>< F>?L>> ?>4E>4OM<5 FD4=E-
?>DF=O5 < ?>4N5<=O5 GEFD>=EF64 =4 
E>>F65FEF6GNM<< >5D47>< ?><5G5==OE 
?GFOE 4?O FD4=E?>DF<D>6><.

 ï �> 6D5<O D45>F ?> F5E=<G5E>><G >5E?G-
6<64=<N < D5<>=FG 6>7<>6=O >7D4=<-
G5=<O 6E?54EF6<5 6OE>><E <?< =<7><E 
F5<?5D4FGD (=4?D<<5D, <7<5=5=<5 F5>G-
G5EF< E<47>G=>7> <4F5D<4?4). �>MF><G 
D45>FO ?> F5E=<G5E>><G >5E?G6<64=<N 
< D5<>=FG 4>?6=O ?D54?>GF<F5?L-
=> ?D><76>4<FLEO ?D< >><=4F=>= 
F5<?5D4FGD5.

 ï �5D54 6O?>?=5=<5< D45>F =5>5E>4<<> 
>F>?NG<FL M?5>FD>?<F4=<5 < E5D>E<FL 
446?5=<5 4?O <745?<O, 4 F4>65 <4L<-
=O, 6 >>F>DGN GEF4=46?<645FEO <745-
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RU 1. '>474=<O ?> F5E=<>5 557>?4E=>EF<

 ï �D< 6O?>?=5=<< D45>F E FO65?O<< 45-
F4?O<< =5>5E>4<<> <E?>?L7>64FL ?>4-
E>4OM<5 7DG7>?>4N5<=O5 GEFD>=EF64.

 ï �5>5E>4<<> <75574FL ?5D5?GFO64=<O 
< =5?D46<?L=>= E5>D>< 45<>=F<D>-
64==OE 45F4?5=. �5>5E>4<<> ?><5F<FL 
45F4?<.

1.17 �5D6<G=O= 66>4 6 M>E??G4F4F<N, 
5654=56=>5 <E?>?L7>64=<5

'554<FLEO 6 E>5?N45=<< E?54GNM<E 
FD55>64=<=:
 ï 6E5 ?D54>ED4=<F5?L=O5 GEFD>=EF64 6 

=4?<G<< < =4E>4OFEO 6 D45>F>E?>E>5-
=>< E>EF>O=<<;

 ï 6E5 E>54<=5=<O 6O?>?=5=O =44?564-
M<< >5D47><;

 ï 6E5 45F4?< GEF4=>6?5=O ?D46<?L=>;

 ï 6E5 ?D54G?D5644NM<5 F45?<G>< =4 
<745?<< =4E>4OFEO 6 >><??5>F=><, 
E>D>L> 6<4<<>< < =5?>6D5645==>< 
E>EF>O=<<;

 ï =5G<F45<O5 <?< >FEGFEF6GNM<5 ?D5-
4G?D5644NM<5 F45?<G>< =5>5E>4<<> 
=5<54?5==> 74<5=<FL.

 ï �5>5E>4<<> GG<FO64FL 6>7<>6=O5 
<5EF4 ?5D5F<D4=<O. �55E?5G<FL =44?5-
64MGN 74M<FG 45F4?5=.

 ï �E5 <E?>?L7G5<O5 >><?>=5=FO 4>?6=O 
5OFL D4EEG<F4=O =4: 
- <4>E<<4?L=>5 D45>G55 446?5=<5; 
- <4>E<<4?L=GN / <<=<<4?L=GN F5<?5-
D4FGDG >>DG64NM5= ED54O; 
- ?>44645<O= E<47>G=O= <4F5D<4?; 
- =5>5E>4<<GN 7>=G ATEX; 
- GE?>6<= M>E??G4F4F<< < >>DG64NM5= 
ED54O 6 <5EF5 <E?>?L7>64=<O.

 ï �E5 45F4?< =5 4>?6=O ?>465D74FLEO 
=47DG7>4< 6 6<45 E>DGG<64=<O, ED574 
<?< <77<54=<O.

 ï �5D54 ?D<<5=5=<5< 45F4?< =5>5E>4<-
<> ?D>65D<FL =4 =4?<G<5 747DO7=5=<= < 
?D< =5>5E>4<<>EF< >G<EF<FL. 

 ï �5D54 <>=F46>< =5>5E>4<<> 74?>?-
=<FL 6E5 E<47>G=O5 ?<=<< E<47>G=O< 
<4F5D<4?><. -F> >5?57G<F ?>E?54GN-
M<= 6O?GE> 6>74GE4 <7 E<EF5<O.

 ï �5>5E>4<<> E>5?N44FL G>474==O5 
<><5=FO 74FO6><. �D< 74FO6>5 <E?>?L-
7>64FL >F>4?<5D>64==O= 4<=4<><5FD<-
G5E><= >?NG.

1.18 '<EF>4

 ï �?4E=>EFL 6>7=<>=>65=<O ?>64D4 
6E?54EF6<5 ?D<<5=5=<O 7>DNG<E G<-
EFOM<E ED54EF6. �E?>?L7>64FL F>?L>> 
=57>DNG<5 G<EFOM<5 ED54EF64, E>>F-
65FEF6GNM<5 F5?< ?D<<5=5=<O.

 ï �5 <E?>?L7>64FL 47D5EE<6=O5 G<EFO-
M<5 ED54EF64.

 ï &M4F5?L=> G44?OFL >EF4F>< G<EFOM<E 
ED54EF6 E <745?<O. 

 ï �5 <E?>?L7>64FL ?4D>EFDG==O5 GEFD>=-
EF64 < >G<EF<F5?< 6OE>>>7> 446?5=<O. 
�?4E=>EFL ?>6D5645=<O M?5>FD<G5E><E 
45F4?5=. 'G<FO64FL EF5?5=L 74M<FO IP 
=4E>E4.

 ï �4?D5M45FEO ?D>6>4<FL D45>FO ?> 
>G<EF>5 F>>>?D>6>4OM<E 45F4?5=.

 ï �?46=O5 GG4EF>< =5>5E>4<<> ?><5F<FL 
E>>F65FEF6GNM<< >5D47><.
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RU1. '>474=<O ?> F5E=<>5 557>?4E=>EF<

1.19 %?5F<4?L=O5 G>474=<O ?> F5E=<>5 
557>?4E=>EF< 4?O 67DO6>74M<FO

 ï �5>5E>4<<> 6E5744 45=EF6>64FL F4><< 
>5D47><, GF>5O ?D54>F6D4F<FL 6>7<>6-
=>EFL 67DO64.

 ï �5D54 =4G4?>< D45>F 6> 67DO6>>?4E-
=OE 7>=4E =5>5E>4<<> ?>?GG<FL G M>E-
??G4F<DGNM5= >D74=<74F<< ?<EL<5=-
=>5 D47D5L5=<5 =4 ?D>6545=<5 F4><E 
D45>F. �4?D5M45FEO 4>?GE>4FL ?>EF>-
D>==<E ?<F 6 7>=G 6O?>?=5=<O D45>F 

 ï �5>5E>4<<> G554<FLEO 6 F><, GF> 6E5 
G4EF< 67DO6>74M<FO =4E>4OFEO 6 >><-
??5>F=>< < D45>F>E?>E>5=>< E>EF>O-
=<<. �E?< =5 <E>?NG5=> =5E>5?N45=<5 
MF>7> FD55>64=<O, E?54G5F 6O>?NG<FL 
<4L<=G < =5<54?5==> ?D><=D>D<<D>-
64FL =5?>ED54EF65==>7> DG>>6>4<F5?O.

 ï �4F57>D<G5E>< 74?D5M45FEO 454>F<6<-
D>64FL, <7<5=OFL <?< >5E>4<FL GEFD>=-
EF64 < ?D<E?>E>5?5=<O, >55E?5G<64N-
M<5 67DO6>74M<FG.

 ï �> 67DO6>>?4E=OE 7>=4E 74?D5M45FEO 
?>O6?5=<5 <EF>G=<>>6 6>E??4<5=5=<O, 
=4?D<<5D, <E>D, >F>DOF>7> ??4<5=< <?< 
7>DOG<E ?>65DE=>EF5=.

 ï �5>5E>4<<> G5D57 D57G?OD=O5 <=F5D-
64?O ?D>65DOFL <745?<5 =4 =4?<G<5 
?>6D5645=<=, >>F>DO5 <>7GF ?D<65EF< 
> 6>E??4<5=5=<N.

 ï &5<?5D4FGD4 6>E??4<5=5=<O E<47>G-
=>7> <4F5D<4?4 4>?6=4 5OFL <<=<<G< 
=4 50 K 6OL5 <4>E<<4?L=> 4>?GEF<<>= 
F5<?5D4FGDO ?>65DE=>EF5= G7?>6.

 ï &5<?5D4FGD4 6>E??4<5=5=<O 4F<>ED5-
DO 67DO6>>?4E=OE 747>6 < ?4D>6 4>?6-
=4 5OFL =4 125 % 5>?LL5 <4>E<<4?L=>= 
F5<?5D4FGDO ?>65DE=>EF5=.

 ï �<=<<4?L=4O F5<?5D4FGD4 6>E??4-
<5=5=<O < F5<?5D4FGD4 F?5=<O <<5-
NM5=EO ?O?< 4>?6=4 5OFL =4 150 % 
5>?LL5 <4>E<<4?L=>= F5<?5D4FGDO 
?>65DE=>EF5=.

 ï �F=>EOM<5EO > 67DO6>74M<F5 ?D545?L-
=O5 7=4G5=<O M>E??G4F4F<< >4=>7=4G-
=O< >5D47>< >5>7=4G5=O ?>ED54EF6>< 
>4F57>D<= GEFD>=EF6, 7DG?? 747>6 < 
?O?<, 4 F4>65 F5<?5D4FGD=OE >?4EE>6, 
G>474==OE 6 <4D><D>6>5 67DO6>74-
M<FO. � ?N5>< E?GG45, 6 F>< G<E?5 
?D< M>E??G4F4F<< ?D<EGFEF6<< ?O?< 
>4F57>D<< IIIC 74?D5M45FEO =4?<G<5 
?O?< ?57><E <5F4??>6 6 4F<>ED5D5. 
�5>5E>4<<> <E?>?L7>64FL F>?L>> F4><5 
<=EFDG<5=FO < >4564G, >>F>DO5 D47D5-
L5=O 4?O ?D<<5=5=<O 6> 67DO6>>?4E-
=OE 7>=4E (74M<M5==O5 >F M?5>FD>EF4-
F<G5E>>7> D47DO44).

 ï $45>FO ?> FD4=E?>DF<D>6>5, <>=F46G < 
D5<>=FG, 4 F4>65 D45>FO E M?5>FD<G5-

E><<< >><?>=5=F4<< D47D5L45FEO 6O-
?>?=OFL F>?L>> ?D< 74D4=F<< >FEGFEF6<O 
67DO6>>?4E=>= 4F<>ED5DO. 

 ï $5<>=F <?< <7<5=5=<O >>=EFDG>F<< 
67DO6>74M<M5==OE <4L<= D47D5L4-
5FEO 6O?>?=OFL F>?L>> 6 <4EF5DE>>=, 
E5DF<D<F<D>64==>= G?>?=><>G5==O< 
>D74=>< < ?>?GG<6L5= D47D5L5=<5 
>F ?D><76>4<F5?O. �E?< MF< D45>FO 
>EGM5EF6?ONFEO =5 E4<<< ?D><76>4<-
F5?5<, 6O?>?=5==O= D5<>=F 4>?65= 
5OFL ?D<=OF < ?<EL<5==> ?>4F65D645= 
E5DF<D<F<D>64==O< M>E?5DF><. � 
6O?>?=5=<< D5<>=F4 4>?6=4 <=D>D-
<<D>64FL E>>F65FEF6GNM4O F45?<G>4 E> 
E?54GNM<<< E6545=<O<<: 
- 44F4; 
- >><?4=<O-<E?>?=<F5?L; 
- 6<4 D5<>=F4; 
- ?D< =5>5E>4<<>EF< >F<5F>4 M>E?5DF4.

 ï �>?GG5==O5 ?D< FD4=E?>DF<D>6>5 
?>6D5645=<O <>7GF ?D<65EF< > ?>F5D5 
67DO6>74M<FO. �D< =4?<G<< 74<5F=OE 
FD4=E?>DF=OE ?>6D5645=<= <745?<5 
74?D5M45FEO <>=F<D>64FL <?< 66>4<FL 
6 M>E??G4F4F<N.

 ï �E5 45F4?< E<EF5<O 7475<?5=<O 4>?6-
=O 5OFL 6 =4?<G<< 6 =44?564M5< E>-
EF>O=<< < ?>4E>54<=5=O > <4L<=5, =4 
>>F>D>= GEF4=>6?5=> <745?<5.
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 ï � E?GG45 45<>=F464 FD4=E?>DF<D>6>G-
=OE ?D>GL<= ?>E?5 GEF4=>6>< E>>F65F-
EF6GNM<5 D57L5>6O5 >F65DEF<O 4>?6-
=O 5OFL 74>DOFO E>7?4E=> FD55>64=<O< 
EF5?5=< 74M<FO.

 ï �5D4M4FLEO E <4F5D<4?4<< =5>5E>-
4<<> F4><< >5D47><, GF>5O <E>?NG<FL 
6>7=<>=>65=<5 <E>D, E>>?L65=<5, 
FD5=<5 <?< EF>?>=>65=<5. �D< =5>5E>-
4<<>EF< <4F5D<4?O E?54G5F 74>DOFL E 
?><>MLN ?>4E>4OM<E ED54EF6.

 ï �75574FL ?>O6?5=<O E>>??5=<= ?O?< 
< =5<54?5==> GEFD4=OFL <E. �F?>65-
=<O ?O?< <<5NF F5??><7>?<DGNM<5 
E6>=EF64, 4 ?>4N5< ?O?< 6 6>74GE 
E?>E>5EF6G5F E>744=<N 67DO6>>?4E=>= 
4F<>ED5DO.

 ï �745?<5 4>?6=> 5OFL ?>4E>54<=5=> > 
E<EF5<5 <>?=<574M<FO M>E??G4F<DGN-
M5= >D74=<74F<<.

 ï �E5 45F4?< =5>5E>4<<> D57G?OD=> 
?D>65DOFL =4 =4?<G<5 >>DD>7<<. �>-
D465==O5 >>DD>7<5= 45F4?< ?>4?564F 
74<5=5

1.20 �==G?<D>64=<5 E5DF<D<>4F4 ATEX

%5DF<D<>4F ATEX =4 44==>5 <745?<5 4=-
=G?<DG5FEO 6E?54EF6<5:
 ï <E?>?L7>64=<O =5 ?> =47=4G5=<N;

 ï E4<>6>?L=>7> <7<5=5=<O >>=EFDG>F<<;

 ï <E?>?L7>64=<O 74?4E=OE G4EF5= < >><-
?>=5=F>6, =5 O6?ONM<EEO >D<7<=4?L-
=O<< 74?4E=O<< G4EFO<< < >><?>=5=-
F4<< >><?4=<< SKF;

 ï =5E>5?N45=<O 44==>7> DG>>6>4EF64, 
4 F4>65 ?>EF46?5==>= 6 >><??5>F5 
4>>G<5=F4F<<;

 ï <E?>?L7>64=<O =5 G>474==OE M>E??G4F4-
F<>==OE <4F5D<4?>6;

 ï =5E>5?N45=<O ?D54?<E4==OE <=F5D-
64?>6 F5E=<G5E>>7> >5E?G6<64=<O < 
D5<>=F4;

1.21 ->E??G4F4F<O 6> 67DO6>74M<M5==OE 
7>=4E

->E??G4F4F<O D47D5L5=4 F>?L>> ?D< E>-
5?N45=<< E?54GNM<E FD55>64=<=:
 ï 6E5E E6545=<=, G>474==OE 6 44==>< 

DG>>6>4EF65, 4 F4>65 E6545=<=, G>4-
74==OE 6 ?>EF46?5==>= 6 >><??5>F5 
4>>G<5=F4F<<;

 ï 6E5E 74>>=>6 < ?D54?<E4=<=, >>F>DO5 
4>?6=O E>5?N44FLEO M>E??G4F<DGN-
M5= >D74=<74F<5=;

 ï G>474=<= ?> 67DO6>74M<F5 E>7?4E=> 
�<D5>F<65 1999/92/EU (ATEX 137);

 ï E>>F65FEF6<5 E5DF<D<>4FG ATEX.

1.22 �4D><D>6>4 67DO6>74M<FO

�4D><D>6>4 67DO6>74M<FO =4E>4<FEO 6 
MF>< DG>>6>4EF65 < =4 746>4E>>= F45?<G-
>5 <4L<=O.

1.23 �4>>>D4E>G=>5 ?>>DOF<5

�745?<5 ?>EF46?O5FEO 557 ?4>>>D4E>G=>-
7> ?>>DOF<O. �5F4??<G5E><5 ?>65DE=>EF< 
74M<M5=O >F >>DD>7<< ?>ED54EF6>< D47-
?<G=OE E<<<G5E><E <5F>4>6, =4?D<<5D, 
G5D=>7> < E5D>7> F<=>>64=<O <?< 747>6>= 
F5<5=F4F<<. 
�E?< M>E??G4F<DGNM4O >D74=<74F<O 
6E5 D46=> D5L<?4 ?>>D4E<FL <745?<5, 
F> ?4>>>D4E>G=>5 ?>>DOF<5 4>?6=> E>-
>F65FEF6>64FL FD55>64=<O< EF4=44DF4 
EN 60079-0:2012 (M?5>FD>EF4F<G5E><= 
D47DO4). �5D54 ?>>D4E>>= E?54G5F FM4-
F5?L=> 74>?5<FL 6E5 G??>F=5=<O < ??4EF-
<4EE>6O5 ?>65DE=>EF<. 
�5>5E>4<<> >55E?5G<FL E>6<5EF<<>EFL 
?4>>>D4E>G=>7> ?>>DOF<O E <E?>?L7G5<O-
<< G??>F=<F5?L=O<< <4F5D<4?4<<.
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1.24 �EF4F>G=O5 >?4E=>EF<

�EF4F>G=4O >?4E=>EFL
�>7<>6=>EFL 6> 6D5-
<O G4EF< 6<7=5==>7> 

F<>?4
�D54>F6D4M5=<5 / GEFD4=5=<5

&D46<O, <4F5D<4?L=O= GM5D5 <7-74 
?445=<O ?>4=OFOE 45F4?5=

A B C G H K
�5 4>?GE>4FL ?>EF>D>==<E ?<F 6 7>=G 6O?>?=5=<O D45>F. �4?D5M45FEO =4E>4<FLEO 
?>4 ?>4=OFO<< =44 75<?5= 45F4?O<<. �E?>?L7>64FL 4?O ?>4N5<4 45F4?5= E>>F65F-
EF6GNM<5 ?>4N5<=O5 GEFD>=EF64.

&D46<O, <4F5D<4?L=O= GM5D5 <7-74 
>?D>><4O64=<O <?< ?445=<O <745?<O 
6E?54EF6<5 =5E>5?N45=<O G>474==OE 
<><5=F>6 74FO6><

B C G

�5>5E>4<<> E>5?N44FL G>474==O5 <><5=FO 74FO6><. �O?>?=OFL >D5?56 <745?<O 
F>?L>> =4 >>=EFDG>F<6=OE 45F4?OE E 4>EF4F>G=>= =5EGM5= E?>E>5=>EFLN. �E?< <>-
<5=FO 74FO6>< =5 G>474=O, =5>5E>4<<> DG>>6>4EF6>64FLEO 7=4G5=<O<< 4?O 6<=F>6 E 
>?4EE>< ?D>G=>EF< 8.8.

&D46<O, <4F5D<4?L=O= GM5D5 <7-74 
?>D465=<O M?5>FD<G5E><< F>>>< ?D< 
?>6D5645=<< E>54<=<F5?L=>7> >455?O

B C D E F G H

�D>65D<FL E>54<=<F5?L=O= >455?L ?5D54 ?5D6O< <E?>?L7>64=<5<, 4 74F5< D57G?OD-
=> ?D>65DOFL 57> =4 =4?<G<5 ?>6D5645=<=. �5 D47<5M4FL >455?L =4 ?>46<6=OE 45-
F4?OE <?< 6 <5EF4E, 745 6>7<>6=> ?5D5F<D4=<5. �E?< MF> =56>7<>6=>, <E?>?L7>64FL 
E?<D4?< 4?O 74M<FO >F ?5D57<54=<O <?< 74M<F=O5 FDG5O.

&D46<O, <4F5D<4?L=O= GM5D5 <7-74 
?D>?<F>7> <?< 6OF5>L57> E<47>G=>7> 
<4F5D<4?4

B C D F G H K

�D>O6?OFL >EF>D>6=>EFL ?D< 74?>?=5=<< 5<>>EF< < ?D< ?>4E>54<=5=<< <?< >F-
E>54<=5=<< E<47>G=OE ?<=<=. �E?>?L7>64FL F>?L>> 7<4D46?<G5E><5 D57L5>6O5 
E>54<=5=<O < E<47>G=O5 ?<=<<, E>>F65FEF6GNM<5 G>474==O< 7=4G5=<O< 446?5=<O. 
�5 D47<5M4FL E<47>G=O5 ?<=<< =4 ?>46<6=OE 45F4?OE <?< 6 <5EF4E, 745 6>7<>6=> 
?5D5F<D4=<5. �E?< MF> =56>7<>6=>, <E?>?L7>64FL E?<D4?< 4?O 74M<FO >F ?5D57<54-
=<O <?< 74M<F=O5 FDG5O.

'4EF< 6<7=5==>7> F<>?4: 
A = FD4=E?>DF<D>6>4, B = <>=F46, C = ?5D6>5 6>?NG5=<5, D = M>E??G4F4F<O, E = >G<EF>4, F = F5E=<G5E>>5 >5E?G6<64=<5,  
G = GEFD4=5=<5 =5<E?D46=>EF5=, D5<>=F, H = 6O6>4 <7 M>E??G4F4F<<, K = GF<?<74F<O
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1.25 �EF4F>G=O5 >?4E=>EF< ATEX

�EF4F>G=4O >?4E=>EFL

�>7<>6=>EFL 
6> 6D5<O G4EF< 

6<7=5==>7> 
F<>?4

�D54>F6D4M5=<5 / GEFD4=5=<5

�E?>?L7>64=<5 6> 67DO6>>?4E=>= 4F<>E-
D5D5 557 ?D>65D>< GEFD>=EF64 6OD46-
=<64=<O ?>F5=F<4?>6 =4 M?5>FD<G5E>GN 
?D>6>4<<>EFL

C, D, G
�5>5E>4<<> ?D>65DOFL GEFD>=EF6> 6OD46=<64=<O ?>F5=F<4?>6 =4 M?5>FD<G5E>GN ?D>-
6>4<<>EFL ?5D54 ?5D6<G=O< 66>4>< 6 M>E??G4F4F<N, ?>E?5 >464>7> D5<>=F4 < 4>?>?-
=<F5?L=> G5D57 D57G?OD=O5 <=F5D64?O, >?D545?O5<O5 M>E??G4F<DGNM5= >D74=<74F<5=

�47D56 >><?>=5=F>6 4> 4<4?47>=4 F5<?5D4-
FGDO 6>E??4<5=5=<O / >5D47>64=<5 67DO6>-
>?4E=>= ?O?56>= 4F<>ED5DO <7-74 ?>4N5<4 
?O?< 6 6>74GE

C, D, E, F, G
�75574FL ?>O6?5=<O E>>??5=<= ?O?< <?< D57G?OD=> GEFD4=OFL <E. �O5D4FL <5EF> <>=-
F464 E >4> <>6=> <5=LL<< >>?<G5EF6>< ?O?<

�>7=<>=>65=<5 M?5>FD>EF4F<G5E><E D47DO-
4>6 <?< <E>D <7-74 ?445=<O 45F4?5=

C, D, E, F, G
�4>D5?<FL 45F4?< >F ?445=<O. �D< =5>5E>4<<>EF< 74>DOFL 45F4?<, GF>5O ?D54>F6D4-
F<FL >5D47>64=<5 <E>D

�=5E5=<5 >4F4?<F<G5E><E, =5EF45<?L=OE 
<?< ?<D>D>D=OE <4F5D<4?>6 6> 67DO6>>-
?4E=GN 7>=G

C, D, E, F, G
'554<FLEO 6 F><, GF> 6> 67DO6>>?4E=>= 7>=5 >FEGFEF6GNF F4><5 <4F5D<4?O. �5D54 <E-
?>?L7>64=<5< ?N5OE <4F5D<4?>6 =5>5E>4<<> ?>?GG<FL D47D5L5=<5 M>E??G4F<DGNM5= 
>D74=<74F<<

�4F65D4564=<5 <E?>?L7G5<>7> E<47>G=>7> 
<4F5D<4?4 6 >F65DEF<OE >>=F56>7> D5?5 
446?5=<O / 5?>>4 >>=F56OE D5?5 446?5=<O

C, D, E, F, G

�E?>?L7>64FL F>?L>> E<47>G=O5 <4F5D<4?O E 4?<F5?L=O< E>ED4=5=<5< EF45<?L=>EF< 
<E E6>=EF6. $57G?OD=> ?D>65DOFL >F65DEF<O >>=F56>7> D5?5 446?5=<O / 5?>>4 >>=F56OE 
D5?5 446?5=<O =4 =4?<G<5 74F65D456L57> E<47>G=>7> <4F5D<4?4. �D< =4?<G<< 74F65D-
456L57> E<47>G=>7> <4F5D<4?4 45<>=F<D>64FL < >G<EF<FL >>=F56>5 D5?5 446?5=<O / 
5?>> >>=F56OE D5?5 446?5=<O.

'4EFL 6<7=5==>7> F<>?4: A = FD4=E?>DF<D>6>4, B = <>=F46, C = ?5D6>5 6>?NG5=<5, D = M>E??G4F4F<O, E = >G<EF>4, F = F5E=<G5E>>5 

>5E?G6<64=<5, G = GEFD4=5=<5 =5<E?D46=>EF5=, D5<>=F, H = 6O6>4 <7 M>E??G4F4F<<, K = GF<?<74F<O
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2. %<47>G=O5 <4F5D<4?O

2.1 �5M4O <=D>D<4F<O

%<47>G=O5 <4F5D<4?O F5?5=4?D46?5==> 
?D<<5=ONFEO 6 E>>F65FEF6<< E =47=4-
G5=<5<. �?O 6O?>?=5=<O ?>EF46?5==>= 
7444G< E<47>G=O5 <4F5D<4?O 4>?6=O 
E>>F65FEF6>64FL D47?<G=O< FD55>64=<O< 
6 D47?<G=>= EF5?5=<. 
�46=5=L<5 FD55>64=<O, ?D54NO6?O5<O5 
> E<47>G=O< <4F5D<4?4<:
 ï E>>D4M5=<5 FD5=<O < <7=>E4;

 ï 74M<F4 >F >>DD>7<<;

 ï E=<65=<5 GD>6=O LG<4;

 ï 74M<F4 >F 747DO7=5=<= <?< ?D>=<>=>-
65=<O ?>EF>D>==<E 65M5EF6;

 ï >E?4645=<5 (?D5645 6E57> 4?O <4E5?);

 ï 4>?7>65G=>EFL (D<7<G5E>4O, E<<<G5-
E>4O EF45<?L=>EFL);

 ï M>>=><<G5E><5 < M>>?>7<G5E><5 
4E?5>FO.

2.2 �O5>D E<47>G=OE <4F5D<4?>6

% F>G>< 7D5=<O >><?4=<< SKF E<47>G=O5 
<4F5D<4?O O6?ONFEO M?5<5=F>< >>=EFDG>-
F<<. �O5>D ?>4E>4OM57> E<47>G=>7> <4-
F5D<4?4 4>?65= >EGM5EF6?OFLEO G65 ?D< 
>>=EFDG<D>64=<< <4L<=O, =4 57> >E=>65 
4>?6=> ?D><EE>4<FL ?D>5>F<D>64=<5 
F5=FD4?<7>64==>= E<EF5<O E<47><.
�O5>D >EGM5EF6?O5F ?D><76>4<F5?L <?< 
>D74=<74F<O, M>E??G4F<DGNM4O <4L<=G, 
?D54?>GF<F5?L=> E>6<5EF=> E ?>EF46-
M<>>< E<47>G=>7> <4F5D<4?4 =4 >E=>65 
?D>D<?O FD55>64=<=, >?D545?5==>7> 
>>=>D5F=>= F5?LN ?D<<5=5=<O.
� E?GG45 >FEGFEF6<O  <?< =54>EF4F>G=>7> 
>?OF4 ?D< 6O5>D5 E<47>G=OE <4F5D<4?>6 
4?O F5=FD4?<7>64==OE E<EF5< E<47>< E?5-
4G5F >5D4F<FLEO 6 >><?4=<N SKF.
�><?4=<O SKF >>47O645F ?><>ML E6><< 
>?<5=F4< ?D< 6O5>D5 ?>4E>4OM<E >><-
?>=5=F>6 4?O ?>44G< 6O5D4==>7> E<4-
7>G=>7> <4F5D<4?4 < ?D< ?D>5>F<D>64=<< 
< D4EG5F5 F5=FD4?<7>64==>= E<EF5<O 
E<47><.
-F> ?>76>?O5F ?D54>F6D4F<FL 6>7<>6=O5 
?D>EF>< <7-74 ?>?><>> <4L<=O <?< 
GEF4=>6><, 4 F4>65 ?>6D5645=<= 
F5=FD4?<7>64==>= E<EF5<O E<47><. 

2.3 %>6<5EF<<>EFL <4F5D<4?>6

%<47>G=O5 <4F5D<4?O 4>?6=O 5OFL E>-
6<5EF<<O E> E?54GNM<<< <4F5D<4?4<<:
 ï EF4?L, E5DO= GG7G=, ?4FG=L, <54L, 

4?N<<=<=;

 ï NBR, FPM, ABS, PA, PU.

2.4 &5<?5D4FGD=O5 E4D4>F5D<EF<><

�E?>?L7G5<O= E<47>G=O= <4F5D<4? 
4>?65= ?>4E>4<FL 4?O E>>F65FEF6GNM5= 
>>=>D5F=>= D45>G5= F5<?5D4FGDO <745-
?<O. �5>5E>4<<> >55E?5G<FL E>5?N45=<5 
6O7>>EF<, FD55G5<>= 4?O 557464D<==>= 
D45>FO <745?<O, >>F>D4O =5 4>?6=4 5OFL 
6OL5 =>D<O ?D< =<7><E F5<?5D4FGD4E <?< 
=<65 =>D<O ?D< 6OE>><E F5<?5D4FGD4E. 
�5>5E>4<<O5 7=4G5=<O 6O7>>EF< G>474=O 
6 7?465 «&5E=<G5E><5 E4D4>F5D<EF<><».



- 20 -951-181-011

�5DE<O 07

RU 2. %<47>G=O5 <4F5D<4?O

�?O <745?<O <>6=> <E?>?L-
7>64FL F>?L>> D47D5L5==O5 > 
?D<<5=5=<N E<47>G=O5 <4F5-
D<4?O, E<. 7?46G «&5E=<G5E><5 
E4D4>F5D<EF<><». �5?D<7>4-
=O5 E<47>G=O5 <4F5D<4?O <>-
7GF ?D<65EF< > 6OE>4G <745?<O 
<7 EFD>O. 

�4?D5M45FEO E<5L<64FL E<4-
7>G=O5 <4F5D<4?O. -F> <>65F 
=5?D546<45==O< >5D47>< 
?>6?<OFL =4 ?D<7>4=>EFL > 
<E?>?L7>64=<N < F5< E4<O< 
D45>F>E?>E>5=>EFL F5=FD4?<-
7>64==>= E<EF5<O E<47><.

�D< >5D4M5=<< E> E<47>G=O-
<< <4F5D<4?4<< =5>5E>4<<> 
GG<FO64FL E6545=<O, G>474==O5 
6 E>>F65FEF6GNM<E ?4E?>DF4E 
557>?4E=>EF< < 7=4>< >?4E-
=>EF< =4 G?4>>6>5 (?D< <E 
=4?<G<<).

2.5 %F4D5=<5 E<47>G=OE <4F5D<4?>6

� E?GG45 ?D>4>?6<F5?L=>7> ?D>EF>O <4-
L<=O ?5D54 ?>6F>D=O< 66>4>< 6 M>E??G-
4F4F<N =5>5E>4<<> ?D>65D<FL, ?>4E>4<F 
?< E<47>G=O= <4F5D<4? 4?O 44?L=5=L57> 
?D<<5=5=<O ?> E6><< E<<<G5E><< <?< 
D<7<G5E><< O6?5=<O< EF4D5=<O. $5>><5=-
4G5FEO ?D>6>4<FL 44==GN ?D>65D>G G65 
?>E?5 >4=>= =545?< ?D>EF>O <4L<=O. 
�D< =4?<G<< E><=5=<= 6 44?L=5=L5= 
?D<7>4=>EF< E<47>G=>7> <4F5D<4?4 
=5>5E>4<<> 74<5=<FL 57> ?5D54 ?>6F>D-
=O< 66>4>< 6 M>E??G4F4F<N 
< ?D< =5>5E>4<<>EF< ?D>65EF< ?5D6<G-
=GN E<47>G 6DGG=GN.
� E>5EF65==>= ?45>D4F>D<< >><?4=<< 
SKF <<55FEO 6>7<>6=>EFL F5EF<D>64=<O 
E<47>G=OE <4F5D<4?>6 =4 ?D>>4G<64-
5<>EFL (=4?D<<5D, E<=5D57<E) E F5?LN 
?D<<5=5=<O 6 F5=FD4?<7>64==OE E<EF5<4E 
E<47><.
�D< =4?<G<< 4>?>?=<F5?L=OE 6>?D>E>6 
>F=>E<F5?L=> E<47>G=OE <4F5D<4?>6 E?5-
4G5F >5D4F<FLEO 6 >><?4=<N SKF. 
' >><?4=<< SKF <>6=> 74?D>E<FL >57>D-
=GN <=D>D<4F<N ?> <E?OF4==O< E<47>G-
=O< <4F5D<4?4<.

 �> ?D<G<=5 5>?LL>7> >>?<-
G5EF64 <<5NM<EEO ?D<E44>> 
>F45?L=O5 E<47>G=O5 <4F5D<-
4?O, >>F>DO5 E>7?4E=> F5E=<-
G5E>><G ?4E?>DFG <77>F>6<F5?O 
E>>F65FEF6GNF =5>5E>4<<O< 
FD55>64=<O<, 
<>7GF =5 ?>4E>4<FL 4?O ?D<-
<5=5=<O 6 F5=FD4?<7>64==OE 
E<EF5<4E E<47>< (=4?D<<5D, 
<7-74 =5E>6<5EF<<>EF< E<=F5-
F<G5E><E E<47>G=OE 65M5EF6 
< <4F5D<4?>6). �> <75564=<5 
MF>7> E?54G5F <E?>?L7>64FL 
F>?L>> E<47>G=O5 <4F5D<4?O, 
?D>65D5==O5 >><?4=<5= SKF. 
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3. �=5L=<= 6<4, DG=>F<>=4?L=>5 >?<E4=<5

�>7<F<>==O= ?5D5>?NG4F5?L (1)
�5D5>?NG45FEO ?D< 4>EF<65=<< =4EFD>5=-
=>7> 446?5=<O ?5D5>?NG5=<O 
DW 1303260 EEX (<<=. 130, <4>E. 260 54D) 
DW 1403400 EEX (<<=. 130, <4>E. 400 54D)  
?>4>?NG5==>= 6E?><>74F5?L=>=, G?D46?ON-
M5= <?< E<7=4?L=>= M?5>FD<G5E>>= F5?<.

$57G?<D>6>G=O= 6<=F (2)
�D54=47=4G5= 4?O D57G?<D>6>< / <7<5=5=<O 
446?5=<O ?5D5>?NG5=<O.

�>=FD74=>4 (3)
�D54=47=4G5=4 4?O D<>E4F<< D57G?<D>-
6>G=>7> 6<=F4 ?>E?5 =4EFD>=>< 446?5=<O 
?5D5>?NG5=<O. �?O =4EFD>=>< 446?5=<O 
?5D5>?NG5=<O E=4G4?4 E?54G5F >E?45<FL 
>>=FD74=>G. 

�>D?GE ?DG6<=O (4)
� >>D?GE5 =4E>4<FEO =46<<=4O ?DG6<=4 4?O 
?5D5>?NG5=<O (?5D5<5M5=<O F>?>4F5?O) 
?>7<F<>==>7> ?5D5>?NG4F5?O.

�F6>4=4O FDG54 (5)
�D54>F6D4M45F ?>?444=<5 6OF5>L5= E<47-
>< 6 >>D?GE ?DG6<=O.

%>54<=5=<5 =4?>D=>= ?<=<< (6)
%>54<=5=<5 (3/8") ?D54=47=4G5=> 4?O ?D<-
E>54<=5=<O =4?>D=>= ?<=<<. (�5 6E>4<F 6 
>><??5>F ?>EF46><). 

$<E. 1. �57>D >>=F56>7> D5?5 446?5=<O DW 130-260 EEX / DW 140-400 EEX

1

2

5

3

4

6
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�>7<F<>==O= ?5D5>?NG4F5?L (1)
�D< 4>EF<65=<< =4EFD>5==>7> 446?5=<O ?5-
D5>?NG5=<O ?D><76>4<F ?5D5>?NG5=<5 ?>4-
>?NG5==>= 6E?><>74F5?L=>=, G?D46?ONM5= 
<?< E<7=4?L=>= M?5>FD<G5E>>= F5?<.

$57G?<D>6>G=O= 6<=F (2)
�D54=47=4G5= 4?O D57G?<D>6>< / <7<5=5=<O 
446?5=<O ?5D5>?NG5=<O.

�>=FD74=>4 (3)
�D54=47=4G5=4 4?O D<>E4F<< D57G?<D>6>G=>-
7> 6<=F4 ?>E?5 =4EFD>=>< 446?5=<O ?5D5>?N-
G5=<O. �?O =4EFD>=>< 446?5=<O ?5D5>?NG5=<O 
E=4G4?4 E?54G5F >E?45<FL >>=FD74=>G. 

�>D?GE ?DG6<=O (4)
� >>D?GE5 =4E>4<FEO =46<<=4O ?DG6<=4 4?O 
?5D5>?NG5=<O ?>7<F<>==>7> ?5D5>?NG4F5?O.

�F6>4=4O FDG54 (5)
�D54>F6D4M45F ?>?444=<5 6OF5>L5= E<47>< 6 
>>D?GE ?DG6<=O.

%>54<=5=<5 =4?>D=>= ?<=<< (6)
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?>7<F<>==>7> ?5D5>?NG4F5?O 
?D><76>4<FEO E>7?4E=> G>474=<O< 
=<65.
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$<E. 7. �4EFD>=>4 446?5=<O ?5D5>?NG5=<O6.5 �4EFD>=>4 446?5=<O ?5D5>?NG5=<O

�5D54 =4EFD>=>>= 446-
?5=<O ?5D5>?NG5=<O 
=5>5E>4<<> >FE>54<-
=<FL E<47>G=O= =4E>E >F 
M?5>FD>?<F4=<O.

�D< ?>EF46>5 6E5744 =4EFD>5=> 
<<=<<4?L=>5 446?5=<5 (E<. F5E=<G5E><5 
E4D4>F5D<EF<><). �>DO4>> 45=EF6<= 4?O 
=4EFD>=>< 446?5=<O ?5D5>?NG5=<O:

" >E?45<FL >>=FD74=>G (3);

" G65?<G<FL 446?5=<5 ?5D5>?NG5=<O, 
74>DGF<6 D57G?<D>6>G=O= 6<=F (2);

" ?>E?5 =4EFD>=>< 446?5=<O ?5D5>?N-
G5=<O 74FO=GFL >>=FD74=>G (3);

�><5=F 74FO6>< = 20 �< ±2 �<

" �D< =5>5E>4<<>EF< ?>6F>D<FL ?D>F5-
4GDG 4?O 6F>D>= E<47>G=>= ?<=<<.

P = G<5=LL5=<5 446?5=<O 
?5D5>?NG5=<O

Q = G65?<G5=<5 446?5=<O 
?5D5>?NG5=<O

2

3

=

�><?>=5=FO ?>4 
446?5=<5<
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6.6 �>4E>54<=5=<5 =4?>D=OE ?<=<=

�%&�$����

�?4E=>EFL ?445=<O
�D>O6?OFL >EF>D>6=>EFL ?D< 
>5D4M5=<< E> E<47>G=O<< <4-
F5D<4?4<<. �5<54?5==> E>5D4FL 
6OEFG?<6L<= E<47>G=O= <4F5D<4? 
E ?><>MLN E>>F65FEF6GNM<E 
ED54EF6 < 74F5< GF<?<7<D>64FL 57>.

%<47>G=O5 ?<=<< 4>?6=O 
?>4E>54<=OFLEO F4><< >5D47><, 
GF>5O =4 <745?<5 =5 6>745=-
EF6>64?< >4><5-?<5> GE<?<O 
(?>4E>54<=5=<5 557 <5E4=<G5-
E><E =4?DO65=<=).

�E5 >><?>=5=FO F5=FD4?<7>64==>= E<EF5-
<O E<47>< 4>?6=O 5OFL D4EEG<F4=O =4:
 ï <4>E<<4?L=>5 6>7<>6=>5 446?5=<5; 

 ï 4>?GEF<<O= 4<4?47>= F5<?5D4FGD; 

 ï >5N5< ?>44G< < ?>44645<O= E<47>G=O= 
<4F5D<4?.  

�?O 74M<FO F5=FD4?<7>64==>= 
E<EF5<O E<47>< E?54G5F GEF4-
=>6<FL ?>4E>4OM<= ?D54>ED4-
=<F5?L=O= >?4?4=. 

�?O 557>?4E=>= < =4456=>= M>E??G4F4-
F<< =5>5E>4<<> E>5?N44FL E?54GNM<5 
G>474=<O ?> <>=F46G. 
 ï �E?>?L7>64FL F>?L>> G<EFO5 >><?>-

=5=FO < ?D5464D<F5?L=> 74?>?=5==O5 
E<47>G=O5 ?<=<<.

 ï �?46=4O E<47>G=4O ?<=<O 4>?6=4 5OFL 
D4E?>?>65=4 E ?>4N5<><; 6 55 65DE=5= 
F>G>< 4>?6=> =4E>4<FLEO GEFD>=EF6> 
4?O 6O?GE>4 6>74GE4. %<47>G=O5 ?<=<< 
E?54G5F 6E5744 ?D>>?44O64FL F4><< 
>5D47><, GF>5O =<745 =5 <>7?< >5D47>-
6O64FLEO E>>??5=<O 6>74GE4.

 ï $4E?D545?<F5?< E<47>G=>7> <4F5D<4?4 
6 >>=F5 7?46=>= ?<=<< 4>?6=O 5OFL 
E<>=F<D>64=O F4><< >5D47><, GF>5O <E 
6OE>4=O5 >F65DEF<O 5O?< =4?D46?5=O 
665DE. 

 ï �E?< <7-74 >>=EFDG>F<< >5>DG4>64=<O 
D4E?D545?<F5?< 4>?6=O =4E>4<FLEO 
=<65 7?46=>= ?<=<<, F> >=< =5 4>?6=O 
D4E?>?474FLEO 6 >>=F5 7?46=>= ?<=<<.

 ï �>F>>G E<47>G=>7> <4F5D<4?4 6 ?<=<OE 
=5 4>?6=O <5L4FL E<?L=O5 <77<-
5O, G7?>6O5 >?4?4=O, 6OEFG?4NM<5 
6=GFDL G??>F=5=<O <?< <7<5=5=<O 
?>?5D5G=>7> E5G5=<O (E 5>?LL57> =4 
<5=LL55). �5<7556=O5 <7<5=5=<O ?>-
?5D5G=>7> E5G5=<O 6 E<47>G=OE ?<=<OE 
4>?6=O 6O?>?=OFLEO 6 6<45 ??46=OE 
?5D5E>4>6. 

 ï �E?>?L7>64FL F>?L>> 7475<?5==O5 
EF4?L=O5 FDG5>?D>6>4O.
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7. �5D6<G=O= 66>4 6 M>E??G4F4F<N

�?O >55E?5G5=<O 557>?4E=>EF< < D45>F>E?>E>5=>EF< =47=4G5==>5 M>E??G4F<DGNM5= >D74=<74F<5= ?<F> 4>?6=> 6O?>?=<FL G>4-
74==O5 =<65 ?D>65D><. �5D54 ?5D6<G=O< 66>4>< 6 M>E??G4F4F<N =5>5E>4<<> GEFD4=<FL >5=4DG65==O5 =5<E?D46=>EF<. 'EFD4=5=<5 
=5<E?D46=>EF5= 4>?6=> 6O?>?=OFLEO F>?L>> <<5NM<< E>>F65FEF6GNM<5 7=4=<O < ?>?=><>G<O E?5F<4?<EF><.

�>=FD>?L=O= ?5D5G5=L ?D>65D>> ?5D54 ?5D6<G=O< 66>4>< 6 M>E??G4F4F<N

7.1 �D>65D>< ?5D54 ?5D6<G=O< 66>4>< 6 M>E??G4F4F<N  �� ��&

�E5 >><?>=5=FO =5 <<5NF ?>6D5645=<=.

-?5>FD<G5E>>5 >5>DG4>64=<5:
-?5>FD<G5E>>5 ?>4>?NG5=<5 ?>7<F<>==>7> ?5D5>?NG4F5?O 6O?>?=5=> ?D46<?L=> (E<. EE5<G E>54<=5=<=)

�455?L=O5 66>4O =4 ?>7<F<>==>< ?5D5>?NG4F5?< 6O?>?=5=O < 75D<5F<7<D>64=O =44?564M<< >5D47><

'EFD>=EF6> 6OD46=<64=<O ?>F5=F<4?>6 <<55FEO 6 ?>?=>< >><??5>F5, =44?564M<< >5D47>< ?>4E>54<=5=> < >55E?5G<645F  
M?5>FD<G5E>GN ?D>6>4<<>EFL

�5E4=<G5E>>5 >5>DG4>64=<5:
�5E4=<G5E>>5 ?>4E>54<=5=<5 =4?>D=OE ?<=<= 6O?>?=5=> ?D46<?L=>

�4>E<<4?L=> 4>?GEF<<>5 446?5=<5 ?5D5>?NG5=<O =4EFD>5=> ?D46<?L=>

�FEGFEF6GNF E>>??5=<O ?O?< F>?M<=>= 5>?55 50 <<

�>7<>6=> D4=55 45<>=F<D>64==O5 74M<F=O5 < >>=FD>?L=O5 GEFD>=EF64 ?>?=>EFLN GEF4=>6?5=O < =4E>4OFEO 6  
D45>F>E?>E>5=>< E>EF>O=<<

�>=FD74=>4 ?D46<?L=> 74FO=GF4 ?>E?5 <7<5=5=<O 446?5=<O ?5D5>?NG5=<O

�>=FD>?L=O= ?5D5G5=L ?D>65D>> 6> ?5D6<G=>7> 66>44 6 M>E??G4F4F<N

7.2 �D>65D>< 6> 6D5<O ?5D6<G=>7> 66>44 6 M>E??G4F4F<N �� ��&

�FEGFEF6GNF =5>5OG=O5 LG<O, 6<5D4F<<, 74?4E<

�FEGFEF6GNF 744O<?5==O5 / >??46<6L<5EO <5EF4

�FEGFEF6G5F E4<>?D><76>?L=O= 6OE>4 E<47>G=>7> <4F5D<4?4 =4 E>54<=5=<OE (GF5G><)
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8. ->E??G4F4F<O

�745?<O >><?4=<< SKF D45>F4NF ?D4>F<-
G5E>< ?>?=>EFLN 46F><4F<G5E><. 
$45>FO 6> 6D5<O EF4=44DF=>7> D56<<4 
>7D4=<G<64NFEO >>=FD>?5< D45>F>E?>-
E>5=>EF< <4=><5FD>6 < =4DG6=>= >G<EF-
>>= <745?<O 6 E?GG45 747DO7=5=<=. 
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9. '<EF>4

�$��'�$�������

�>D465=<5 M?5>FD<G5E><< F>>><, >?4E=>EFL ?>64D4 < 67DO64
�?4E=>EFL ?>64D4 < 67DO64 6E?54EF6<5 ?D<<5=5=<O 7>DNG<E G<EFOM<E ED54EF6. 
$45>FO ?> >G<EF>5 4>?6=O 6O?>?=OFLEO F>?L>> =4 <745?<OE, >>F>DO5 >55EF>G5=O < =5 =4E>4OFEO ?>4 446?5=<5<. �4?D5M45F-
EO 5D4FLEO <>>DO<< <?< 6?46=O<< DG>4<< 74 >455?< <?< M?5>FD<G5E><5 45F4?<. 
�4D>EFDG==O5 GEFD>=EF64 <?< >G<EF<F5?< 6OE>>>7> 446?5=<O D47D5L45FEO <E?>?L7>64FL F>?L>> 6 E>>F65FEF6<< E> EF5?5=LN 
74M<FO IP. � <=>< E?GG45 6>7=<>45F >?4E=>EFL ?>6D5645=<O M?5>FD<G5E><E >><?>=5=F>6. 
�>DO4>> >G<EF><, =5>5E>4<<O5 ED54EF64 <=4<6<4G4?L=>= 74M<FO, G<EFOM<5 ED54EF64 < GEFD>=EF64 >?<E4=O 6 45=EF6GNM5= 
?D><76>4EF65==>= <=EFDG>F<< M>E??G4F<DGNM5= >D74=<74F<<.

9.1 '<EFOM<5 ED54EF64

�?O >G<EF>< D47D5L45FEO <E?>?L7>64FL 
F>?L>> G<EFOM<5 ED54EF64, E>6<5EF<<O5 
E <<5NM<<<EO <4F5D<4?4<< (4?O ?>-
?GG5=<O <=D>D<4F<< > <4F5D<4?4E E<. 
7?46G 2.3).

�EF4F>< G<EFOM57> ED54EF64 
=4 <745?<< E?54G5F ?>?=>EFLN 
G44?<FL < ?D><OFL G<EF>= 
6>4>=.

9.2 �4DG6=4O >G<EF>4

�> 6D5<O >G<EF>< 5<>>EFL 
4>?6=4 5OFL >5O74F5?L=> 
74>DOF4.

" �?46=O5 GG4EF>< =5>5E>4<<> >5>7=4-
G<FL < >7D44<FL.

" �5 4>?GE>4FL ?>EF>D>==<E ?<F 6 7>=G 
6O?>?=5=<O D45>F.

" �O?>?=<FL FM4F5?L=GN >G<EF>G 6E5E 
=4DG6=OE ?>65DE=>EF5=, <E?>?L7GO 
6?46=GN F>4=56GN E4?D5F>G.

9.3 �=GFD5==OO >G<EF>4

�5OG=> ?D>6545=<5 6=GFD5==5= >G<EF>< 
=5 FD55G5FEO. 
�E?< E?GG4==> 5O? 74?<F =565D=O= <?< 
747DO7=5==O= E<47>G=O= <4F5D<4?, =5>5-
E>4<<> 6O?>?=<FL 6=GFD5==NN >G<EF>G 
<745?<O. 
�?O MF>7> =5>5E>4<<> >5D4F<FLEO 6 E5D-
6<E=GN E?G65G >><?4=<< SKF.
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10. &5E=<G5E>>5 >5E?G6<64=<5

�$��'�$�������

�?4E=>EFL 67DO64
&5E=<G5E>>5 >5E?G6<64=<5, D5<>=F 
< <7<5=5=<O >>=EFDG>F<< 67DO-
6>74M<M5==OE <4L<= 4>?6=O 
?D>6>4<FLEO E GG5F>< 74>>=>44-
F5?L=OE / 6=GFD<?D><76>4EF65==OE 
?D54?<E4=<=. �E?< 44==O5 D45>FO 
>EGM5EF6?ONFEO =5 ?D><76>4<-
F5?5<, >=< 4>?6=O 6O?>?=OFLEO 
?5DE>=4?>< E E>>F65FEF6GNM5= 
>64?<D<>4F<5= < 5OFL ?D>65D5=O 
«>><?5F5=F=O< E?5F<4?<EF><, 
E5DF<D<F<D>64==O< =447>D=O< 
>D74=><».
$45>FO D47D5L45FEO ?D>6>4<FL 
F>?L>> ?D< >FEGFEF6<< 
67DO6>>?4E=>= 4F<>ED5DO.

&M4F5?L=>5 < D57G?OD=>5 F5E=<G5E>>5 
>5E?G6<64=<5 O6?O5FEO =5>5E>4<<O< GE-
?>6<5< 4?O E6>56D5<5==>7> >5=4DG65=<O 
< GEFD4=5=<O 6>7<>6=OE =5<E?D46=>EF5=. 
&4> >4> ?D><76>4<F5?L =5 <>65F F>G=> 
>?D545?<FL GE?>6<O M>E??G4F4F<<, F4>65 
=56>7<>6=> G>474FL >>=>D5F=O5 ED>><. 
�>=>D5F=O5 ED>>< 6E5744 >?D545?ONF-
EO M>E??G4F<DGNM5= >D74=<74F<5= E 
GG5F>< GE?>6<= M>E??G4F4F<< < <5EF=OE 
>E>55==>EF5=. �E =5>5E>4<<> D57G?OD=> 
?D>65DOFL < ?D< =5>5E>4<<>EF< <7<5=OFL. 
�D< =5>5E>4<<>EF< E?54G5F E>>?<D>64FL 
F45?<FG «�>=FD>?L=O= ?5D5G5=L F5E-
=<G5E>>7> >5E?G6<64=<O» 4?O D57G?OD-
=>7> ?D>6545=<O D45>F ?> F5E=<G5E>><G 
>5E?G6<64=<N.
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10.1 &5E=<G5E>>5 >5E?G6<64=<5

 

�>=FD>?L=O= ?5D5G5=L F5E=<G5E>>7> >5E?G6<64=<O 

&D55G5<4O D45>G4O >?5D4F<O �� ��&

-?5>FD<G5E>>5 ?>4>?NG5=<5 ?>7<F<>==>7> ?5D5>?NG4F5?O 6O?>?=5=> ?D46<?L=>

�5E4=<G5E>>5 ?D<E>54<=5=<5 ?>7<F<>==>7> ?5D5>?NG4F5?O 6O?>?=5=> ?D46<?L=>

�E5 >><?>=5=FO, =4?D<<5D, E<47>G=O5 ?<=<<, E<>=F<D>64=O ?D46<?L=>

�FEGFEF6GNF 74<5F=O5 ?>6D5645=<O, 747DO7=5=<O < E?54O >>DD>7<<

�>7<>6=> D4=55 45<>=F<D>64==O5 74M<F=O5 < >>=FD>?L=O5 GEFD>=EF64 ?>?=>EFLN GEF4=>6?5=O < =4E>4OFEO 6  
D45>F>E?>E>5=>< E>EF>O=<<

�FEGFEF6GNF =5>5OG=O5 LG<O, 6<5D4F<<, =5F E>>??5=<= 6?47<, 74?4E>6

�FEGFEF6G5F E4<>?D><76>?L=>5 6OEFG??5=<5 E<47>G=>7> <4F5D<4?4 =4 E>54<=5=<OE

�55E?5G5= >DG?=>D47<5D=O= M?5>FD>?D>6>4OM<= >>=F4>F >>=F56>7> D5?5 446?5=<O E <4L<=>=, 6 >>F>D>= >=> GEF4=>6?5=>

�FEGFEF6GNF E>>??5=<O ?O?< F>?M<=>= 5>?55 50 <<

�FEGFEF6G5F 74F65D456L<= E<47>G=O= <4F5D<4? 6 >F65DEF<OE >>=F56>7> D5?5 446?5=<O / 5?>>4 >>=F56OE D5?5 446?5=<O.  
%4<>5 ?>74=55 G5D57 >464O5 6 <5EOF56 E?54G5F ?D>65DOFL >FEGFEF6<5 74F65D456L57> E<47>G=>7> <4F5D<4?4 6 >>=F56>< D5?5 446?5-
=<O / 5?>>5 >>=F56OE D5?5 446?5=<O, =4?D<<5D, >F>DGF<6 4?O MF>7> <4=><5FD. � E?GG45 <4L<= E 4?<F5?L=O<< ?5D<>44<< ?D>EF>O <?< 
E<47>G=O<< <4F5D<4?4<< E >D<F<G5E><<< E6>=EF64<< E?54G5F ?D< =5>5E>4<<>EF< G<5=LL<FL MF>F <=F5D64?



11

RU11. �5<E?D46=>EF<, ?D<G<=O < E?>E>5O GEFD4=5=<O

- 39 - 951-181-011

�5DE<O 07

11. �5<E?D46=>EF<, ?D<G<=O < GEFD4=5=<5

11.1 &45?<F4 =5<E?D46=>EF5=

�5<E?D46=>EFL �>7<>6=4O ?D<G<=4 �5F>4 GEFD4=5=<O

%<47>G=O= =4E>E =5 ?>445F E<47>G=O= 
<4F5D<4?

%?<L>>< =<7>4O ?>44G4 E<47>G=>7> <4-
F5D<4?4 =4E>E>< <7-74 E?<L>>< G4EF>7> 
>F>?NG5=<O

�4EFD>5=> E?<L>>< =<7>>5 446?5=<5 ?5D5>?NG5=<O 
>>=F56>7> D5?5 446?5=<O

�D< =5>5E>4<<>EF< G65?<G<FL 446?5=<5 ?5D5-
>?NG5=<O 5?>>4 >>=F56OE D5?5 446?5=<O

%<47>G=O= =4E>E =5 6O>?NG45FEO ?D< 4>-
EF<65=<< 446?5=<O ?5D5>?NG5=<O

%?<L>>< =<7><5 ?>>474=<O 446?5=<O =4 
<4=><5FD5 5?>>4 >>=F56OE D5?5 446?5=<O

�4F65D456L<= E<47>G=O= <4F5D<4? 6 >F65DEF<OE 
>>=F56>7> D5?5 446?5=<O / 5?>>4 >>=F56OE D5?5 
446?5=<O

�FE>54<=<FL >>=F56>5 D5?5 446?5=<5 / 5?>> 
>>=F56OE D5?5 446?5=<O >F =4?>D=>= ?<=<< < 
>G<EF<FL >F65DEF<O >F 74F65D456L57> E<47>G=>7> 
<4F5D<4?4
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12. $5<>=F=O5 D45>FO

� <745?<< >FEGFEF6GNF >><?>=5=FO, 
?>4?564M<5 D5<>=FG M>E??G4F<DGNM5= 
>D74=<74F<5=. � E?GG45 =5<E?D46=>EF< 
E?54G5F 6E5744 74<5=OFL 6E5 <745?<5. 
�E>?NG5=<5< O6?ONFEO 74?4E=O5 G4EF<, 
G>474==O5 6 44==>< DG>>6>4EF65. �=< 
<>7GF <E?>?L7>64FLEO 4?O 74<5=O =5<E-
?D46=>7> >>=EFDG>F<6=> <45=F<G=>7> 
>><?>=5=F4.

�?<E4==O5 D45>FO 4>?6=O 
?> 6>7<>6=>EF< 6O?>?=OFLEO 
?D< >><=4F=>= F5<?5D4FGD5. 
�<7><5 F5<?5D4FGDO <>7GF 
?D<65EF< > 74FDG4=5=<O< ?D< 
?D>6545=<< D45>F.

�$��'�$�������

�?4E=>EFL ?>?GG5=<O FD46<O
�5D54 6E5<< D5<>=F=O<< D4-
5>F4<< =5>5E>4<<> >4> <<=<-
<G< ?D<=OFL E?54GNM<5 <5DO 
557>?4E=>EF<:
 ï =5 4>?GE>4FL ?>EF>D>==<E ?<F 6 

7>=G 6O?>?=5=<O D45>F;

 ï >5>7=4G<FL < >7D44<FL 7>=G 6O-
?>?=5=<O D45>F;

 ï E5D>E<FL 446?5=<5 <7 <745?<O;

 ï >55EF>G<FL <745?<5 < 745?>-
><D>64FL 57> >F ?>6F>D=>7> 
6>?NG5=<O;

 ï ?D>65D<FL <745?<5 =4 >F-
EGFEF6<5 M?5>FD<G5E>>7> 
=4?DO65=<O;

 ï 7475<?<FL < =4>>D>F>> 74<>=GFL 
<745?<5;

 ï ?D< =5>5E>4<<>EF< 74>DOFL 
E>E54=<5 45F4?<, =4E>4OM<5EO 
?>4 =4?DO65=<5<.
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RU12. $5<>=F=O5 D45>FO

12.1 �4<5=4 <4=><5FD4

�>DO4>> 45=EF6<= 4?O 74<5=O <4=><5FD4:

" 6O?>?=<FL <5DO 4?O >55E?5G5=<O 557-
>?4E=>EF<, >?<E4==O5 6 =4G4?5 MF>= 
7?46O;

" ?D>65D<FL =>6O= <4=><5FD =4 E>>F65F-
EF6<5 F5?< <E?>?L7>64=<O;

" >F>DGF<FL =5<E?D46=O= <4=><5FD (7) 
<7 D57L5>6>7> M?5<5=F4, <E?>?L7GO 57> 
G5FOD5E7D4==<> (7.1). �D< MF>< ?D<-
45D6<64FL D57L5>6>= M?5<5=F (10) >F 
?D>6>D4G<64=<O E ?><>MLN 6F>D>7> 
745G=>7> >?NG4;

" 6>DGF<FL =>6O= <4=><5FD E G??>F=5=<-
5< (11), <E?>?L7GO 57> G5FOD5E7D4==<>, 
6 D57L5>6>= M?5<5=F. �D< MF>< ?D<-
45D6<64FL D57L5>6>= M?5<5=F (10) >F 
?D>6>D4G<64=<O E ?><>MLN 6F>D>7> 
745G=>7> >?NG4;

�><5=F 74FO6>< = 40 �< ±2,0 �<

" ?>E?5 <>=F464 GEF4=>6<FL 6>74GL=O= 
>?4?4= =4 <4=><5FD5 (?D< 57> =4?<G<<) 
<7 ?>?>65=<O CLOSE (74>DOF>) 6 ?>?>-
65=<5 OPEN (>F>DOF>).

$<E. 8. �4<5=4 <4=><5FD4 =4 5?>>5 >>=F56OE D5?5 446?5=<O EDWE-3 EEX

7

7,1

10 7,1

11
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RU 12. $5<>=F=O5 D45>FO

12.2 �4<5=4 ?>7<F<>==>7> 
?5D5>?NG4F5?O

�>DO4>> 45=EF6<= 4?O 74<5=O ?>7<F<>==>7> 
?5D5>?NG4F5?O:

" 6O?>?=<FL <5DO 4?O >55E?5G5=<O 557>-
?4E=>EF<, >?<E4==O5 6 =4G4?5 MF>= 7?46O;

" ?D>65D<FL =>6O= ?>7<F<>==O= ?5-
D5>?NG4F5?L =4 E>>F65FEF6<5 F5?< 
<E?>?L7>64=<O;

" >F>DGF<FL 464 6<=F4 E 6=GFD5==<< L5-
EF<7D4==<>>< (1.3) < E=OFL =5<E?D46=O= 
?>7<F<>==O= ?5D5>?NG4F5?L (1);

" >E?45<FL >455?L=O= 66>4 (1.2) < >F-
E>54<=<FL >455?L 6 ?>7<F<>==>< 
?5D5>?NG4F5?5;

" ?>4E>54<=<FL >455?L > 6<=F>6O< >?5<<4< 
6 ?>7<F<>==>< ?5D5>?NG4F5?5 (1);

�><5=F 74FO6>< = <4>E. 0,4 �<

" 74FO=GFL >455?L=O= 66>4 (1.2);

�><5=F 74FO6>< = 3 �< ±0,3 �<

" 74>D5?<FL =>6O= ?>7<F<>==O= ?5D5-
>?NG4F5?L 46G<O 6<=F4<< E 6=GFD5==<< 
L5EF<7D4==<>>< (1.3).

�><5=F 74FO6>< = 1,2 �< ±0,1 �<

$<E. 9. �4<5=4 ?>7<F<>==>7> ?5D5>?NG4F5?O

1

1,2

1,3
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13. �O6>4 <7 M>E??G4F4F<<, GF<?<74F<O

13.1 �D5<5==O= 6O6>4 <7 M>E??G4F4F<<

�D5<5==O= 6O6>4 <7 M>E??G4F4F<< ?D>-
<76>4<FEO ?>ED54EF6><:
 ï 6O>?NG5=<O <4L<=O, 6 >>F>D>= GEF4-

=>6?5=> <745?<5;

 ï >FE>54<=5=<O M?5>FD>?<F4=<O >F 
<745?<O.

13.2 �>>=G4F5?L=O= 6O6>4 <7 
M>E??G4F4F<<, 45<>=F46

->E??G4F<DGNM4O >D74=<74F<O 4>?6=4 
=44?564M<< >5D47>< E??4=<D>64FL 
>>>=G4F5?L=O= 6O6>4 <7 M>E??G4F4F<< < 
45<>=F46 <745?<O < 6O?>?=<FL MF< D45>-
FO E>7?4E=> 6E5< ?>4?564M<< E>5?N45-
=<N ?D54?<E4=<O<. 

13.3 'F<?<74F<O

%FD4=O 6 ?D545?4E �% 

�> 6>7<>6=>EF< E?54G5F <75574FL >5D47>-
64=<O >FE>4>6 <?< E65EF< <E > <<=<<G<G. 
'F<?<74F<O <745?<=, 747DO7=5==OE E<4-
7>G=O< <4F5D<4?><, 4>?6=4 6O?>?=OFLEO 
E E>5?N45=<5< 6E5E FD55>64=<= ?> 74M<-
F5 >>DG64NM5= ED54O < ?D54?<E4=<= ?> 
GEFD4=5=<N >FE>4>6 <5EF=OE =447>D=OE 
654><EF6 E ?><>MLN 4>>D54<F>64==>7> 
?D54?D<OF<O ?> G=<GF>65=<N >FE>4>6.

�F65FEF65==O< 74 >>=>D5F=GN 
>?4EE<D<>4F<N O6?O5FEO ?D>-
<76>4<F5?L >FE>4>6, F4> >4> 
�6D>?5=E><= >4F4?>7 >FE>4>6 
?D54GE<4FD<645F D47?<G=O5 
>>4O GF<?<74F<< 4?O >4<-
=4>>6OE >FE>4>6 D47=>7> 
?D><EE>645=<O.

-?5>FD<G5E><5 >><?>=5=FO 

=5>5E>4<<> GF<?<7<D>64FL 

<?< ?5D544FL =4 6F>D<G=GN 

?5D5D45>F>G E>7?4E=> �<-

D5>F<65 WEEE 2002/96/�U.

�?4EF<4EE>6O5 <?< <5F4??<-

G5E><5 45F4?< <>6=> GF<?<-

7<D>64FL >4> ?D><OL?5==O5 

>FE>4O.

%FD4=O 74 ?D545?4<< �%

'F<?<74F<O ?D><76>4<FEO E>7?4E=> 45=-
EF6GNM5<G 74>>=>44F5?LEF6G < ?D54?<E4-
=<O< E>>F65FEF6GNM5= EFD4=O.
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14. �4?4E=O5 G4EF<

�4?4E=O5 G4EF< D47D5L45FEO <E?>?L7>64FL F>?L>> 4?O 74<5=O =5<E?D46=OE 45F4?5= <45=F<G=>= >>=EFDG>F<<. �=< =5 ?D54=47=4G5=O 
4?O <7<5=5=<O >>=EFDG>F<< <745?<=. 

$<E. 10
14.1 �>7<F<>==O= ?5D5>?NG4F5?L

�4<<5=>64=<5 LF. �><5D <745?<O

�>7<F<>==O= ?5D5>?NG4F5?L 1 2360-00000260

$<E. 11
14.2 �4=><5FD

�4<<5=>64=<5 LF. �><5D <745?<O

�4=><5FD 
(?>EF46?O5FEO E G??>F=5=<5<)

1 234-14232-6
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�D<?>65=<O, >><??5>FGNM<5 EF>D>==<E ?>EF46M<>>6

�4O6?5=<5 > E>>F65FEF6<< FD55>64=<O< 4?O ?>7<F<>==OE ?5D5>?NG4F5?5=
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�4O6?5=<5 > E>>F65FEF6<< FD55>64=<O< 4?O <4=><5FD>6 E>7?4E=> �<D5>F<65 ATEX 2014/34/EU
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�4O6?5=<5 > E>>F65FEF6<< FD55>64=<O< 4?O <4=><5FD>6 E>7?4E=> �<D5>F<65 > =4?>D=>< >5>DG4>64=<< 2014/35/EU
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